
Math 190 – Spring 2017  Names: ___________________ 
Assignment G2  ___________________ 
First submission: Today in class  ___________________ 
Final submission: Thursday, Jan 19  

 

Put your solutions on this page. 

 

Do not use your phones or calculators. 

 

(1) lim
𝑥→0

𝑥

√𝑥+1−1
 =  

 

 

(2) lim
𝑥→1

2

−

|2𝑥−1|

2𝑥−1
 =  

 

 

(3) lim
𝑥→3

√𝑥 − 3 =  

 

 

(4) lim
𝑥→3+

√𝑥 − 3 =  

 

 

(5) lim
𝑥→1

1−𝑎2

1−𝑎
 =  

 

 

(6) lim
𝑎→4

2−√𝑎

4−𝑎
 =  

 

 

(7) lim
𝑥→2

8−𝑎3

2−𝑎
 =  

 

 

(8) lim
𝑥→1

1−1
𝑎

1−𝑎
 =  

 

 

(9) lim
𝑥→−1

𝑔(𝑥)  = _______ in the graph shown. 

 

(10) lim
𝑥→−1

𝑔(𝑥)   _______  in the graph shown. 

 

(11) lim
𝑥→2

𝑔(𝑥)  = _______ in the graph shown. 

 

(12) lim
𝑥→2−

𝑔(𝑥)  = _______ in the graph shown. 

 

(13) lim
𝑥→2+

𝑔(𝑥)  = _______ in the graph shown. 

 

 

(14) Draw the graph of a single function that has all of these properties: 

 

 lim
𝑥→−4+

𝑓(𝑥) = 2 

 

 f(-4) = 0 

 

 lim
𝑥→0

𝑓(𝑥) = 0 

 

 f(0) = 2 

 

 

 

  

y=g(x) 
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(15) Compute these limits: 

 

a.  lim
𝑥→−∞

2𝑥3−1

𝑥2+1
 =  

 

 

b. lim
𝑥→∞

2𝑥3−1

𝑥2+1
 =  

 

 

c. lim
𝑥→−∞

2𝑥3−1

𝑥3+1
 =  

d. lim
𝑥→∞

2𝑥3−1

𝑥3+1
 =  

 

 

e. lim
𝑥→−∞

1 − 𝑥4 =  

 

 

f. lim
𝑥→∞

1 − 𝑥4 =  

 

 

 

(16) Graph the function 𝑔(𝑥) = {
−𝑥,   if 𝑥 < −2        
3,   if − 2 ≤ 𝑥 ≤ 2
𝑥,   if x > 2              

 below. Then, identify and classify all 

discontinuities. 

 

 

 

 

 

 

 

 

(17) Find the value of a that makes g(x) a continuous function  𝑔(𝑥) = {
−𝑥 + 𝑎,   if 𝑥 < 0        
1, if 𝑥 = 0                   

𝑥 + 𝑎,   if x > 0             
 

 

 

 

(18) Find values of a and b that makes f(x) a continuous function: 𝑓(𝑥) =  {
3𝑥2 − 1,   if 𝑥 ≥ 2
𝑎𝑥 + 𝑏,   if 𝑥 < 2

 

 

 

 

(19) Draw the graph of a single function that has all of these properties: 

 

 f(x) is continuous on the interval (-, 0)  (0, ) 

 lim
𝑥→0

𝑓(𝑥) = 0 

 f(0) = 2 

 lim
𝑥→∞

𝑓(𝑥) = 0 

 lim
𝑥→−∞

𝑓(𝑥) = 0 


